MAHATRANSCO Technical Staff
Grade VI PAP MAIN

Topic:- MAIN_Professional Knowledge

1) Which of the following diode is used for Panel indicator?

WIS BT STTS YA GaHS WU ITuRdT STal?
[Question ID = 8845]

1. Varactor diode / IR SIS [Option ID = 35500]
2. Tunnel diode / @ SIS [Option ID = 35499]

3. LED / Udsa! [Option ID = 35497]

4, Zener diode / @ﬁ?@f@‘s’ [Option ID = 35498]

Correct Answer :-
e LED/ QFI%‘&?T [Option ID = 35497]

2) Which of the following statement is NOT true about Squirrel Cage Induction Motor?

1. It is less efficient than Slip ring (wound rotor) Induction Motor

2. It requires less maintenance than Slip ring (wound rotor) Induction Motor
3. It is cheaper in cost than Slip ring (wound rotor) Induction Motor

4. It has low starting torque than Slip ring (wound rotor) Induction Motor

Weiiate! SIvrd AU fRpve Sl S Hie= JIadid SRIax Ag?

1. 9 f&au fa1 (g Tex) SsaRM Hier varn siftre srfer ATgt.

2. gITe f&Tu 1 (43 AeR) SsaR Mie? UeT HH T ATaad 3R,
3. g fXau f1 (g5 Aev) SsRM i Ue W 303,

4. qTET TIfén fd Ry R (g Rex) SR Hier var & 3.

[Question ID = 8856]

1. 2 only [Option ID = 35542]
2. 1 only [Option ID = 35541]
3.1 & 4 [Option ID = 35543]
4. 1 & 3 [Option ID = 35544]

Correct Answer :-
e 1 only [Option ID = 35541]

3) Which of the following impurities is NOT tetravalent?

Qreite TP PO ST aAda< A2



[Question ID = 8843]

1. Aluminium / 3{GfAfTH [Option ID = 35489]
2. Germanium / STy [Option ID = 35492]
3. Silicon / Rifer19 [Option ID = 35490]

4. Carbon / T& [Option ID = 35491]

Correct Answer :-

« Aluminium / 3gfHIH [Option ID = 35489]

4) Which of the following is not a type of file?

Weiidaie! Il BIsd 91 TP ATg1?
[Question ID = 8820]

1. Square file / IRY WIsd [Option ID = 35398]
2. Flat file / UTe WIsd [Option ID = 35400]

3. Rectangular file / smmmﬁ hIgd [Option ID = 35397]
4. Triangular file / [ECANIRAES] [Option ID = 35399]

Correct Answer :-
o Rectangular file / B{TGFIWW [Option ID = 35397]

5) Which of the following is filled around the earth electrode to reduce the resistance of earth ?

3rfar ufoeR HH FUArRIS) |reld Tt B oY sAaeis=T Hiadt WRdra?
[Question ID = 8860]

1. Water / TTUft [Option ID = 35559]

2. Salt and coal / HI& 31fo1 &9 [Option ID = 35557]
3. Copper and zinc / GRS RSIES] [Option ID = 35560]
4. Wood / Al 8 [Option ID = 35558]

Correct Answer :-

« Salt and coal / H3 30T ®I&wT [Option ID = 35557]

6) Which of the following internal composition does not contain four layers?

Wrete T} HIorT SR [T IR TR AT8ia?
[Question ID = 8866]

1. DIAC [Option ID = 35582]
2. UJT [Option ID = 35581]
3. SCR [Option ID = 35584]
4. TRIAC [Option ID = 35583]

Correct Answer :-
e UJT [Option ID = 35581]



7) Which type of earthing is represented by the following figure?
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[Question ID = 8838]

1. Plate earthing / @ic 31T [Option ID = 35470]
2. Pipe earthing / U1s4 31T [Option ID = 35469]
3. Strip earthing /ﬁ%‘q fff [Option ID = 35472]
4. Rod earthing / J1S 31T [Option ID = 35471]

Correct Answer :-
 Pipe earthing / US4 3iffr [Option ID = 35469]

8) Band gap (energy gap) of Diamond is
SIS §US Y (S 3ieR) 3Te.
[Question ID = 8842]

1. 6 eV [Option ID = 35485]
2. 0.2 eV [Option ID = 35486]
3. 2.5 eV [Option ID = 35488]
4. 9 eV [Option ID = 35487]

Correct Answer :-
e 6 eV [Option ID = 35485]

9) V-I graph is a straight line for
V-1 U6 TTS) TP TS 6T 3R,

[Question ID = 8824]

1. Varactor diaode / @XaeR SIS [Option ID = 35415]
2. Gunn diode / T SIS [Option ID = 35416]

3. Thermistor / 3SH® [Option ID = 35414]

4. Copper electrode / HWHTE@H@E [Option ID = 35413]



Correct Answer :-
« Copper electrode / I Saidels [Option ID = 35413]

10) Output signal of a common-emitter amplifier is out of phase with the input signal.
BIA-THER SRABTRET 3Seye R &1 Y Rue 98 3mshe 3iTe bl 3me.

[Question ID = 8848]

1. 90 degrees / 90 T3 [Option ID = 35510]
2. 180 degrees / 180 f&h [Option ID = 35509]
3. 45 degrees / 45 f&Ut [Option ID = 35511]
4. 0 degrees / 0 &3t [Option ID = 35512]

Correct Answer :-
« 180 degrees / 180 f&¥t [Option ID = 35509]

11) In a pure capacitive circuit, current voltage and power factor is

Y& HURICT AfheHS Fie ool 3ATfOT UfaR thaex 3T8.

[Question ID = 8837]

1. Lags, zero / &, T [Option ID = 35466]

2. Is in negative phase with, unity / g¢ITg fARifcd thel B& 3118 [Option ID = 35468]
3. Is in positive phase with, unity / gﬁ?ﬁﬂ%’ Uififea ol A 318 [Option ID = 35467]
4, Leads, zero / NS , ][ [Option ID = 35465]

Correct Answer :-
« Leads, zero / TS , YA [Option ID = 35465]

12) In a CRO, time taken by a beam to excite a definite area of phosphate can be adjusted by
control.

HerRan ued, widbed U fAfda & Sxfora srvart U fHum Saaen aaR SR gUTAIfoTa
Fd WS, .

[Question ID = 8864]

1. Boundary condition / T Ryt [Option ID = 35574]
2. Time/division / aE/ﬁHFT [Option ID = 35573]

3. Sweep / WY [Option ID = 35576]

4. Gain condition / T fRl [Option ID = 35575]

Correct Answer :-

o Time/division / aa/ﬁ‘l-ﬂﬂ [Option ID = 35573]

13) In an intrinsic semiconductor, contribute towards electrical conductivity.

TSI Siiafvs Afibsdeud, faga Tra@warand ahrer .




[Question ID = 8841]

1. Both holes and electrons / qrg! fs Sffor 3@3@17& [Option ID = 35481]

2. Electrons / $ad¢i~d [Option ID = 35482]

3. Neither holes nor electrons / f&%, ScidgiH Gl fg A6 [Option ID = 35484]
4. Holes / f&% [Option ID = 35483]

Correct Answer :-

« Both holes and electrons / GIvaI f&s ATUT Saiaei~ [Option ID = 35481]

14) In a concealed wiring system, a saddle is established at approximately what distance from the
switch box?

FRes arafi ugdla, g SieuRgA Jea sigr fard) siarmar eryar?
[Question ID = 8834]

1. 30 cm [Option ID = 35453]
2. 1 m [Option ID = 35455]
3. 60 cm [Option ID = 35454]
4. 5 m [Option ID = 35456]

Correct Answer :-
e 30 cm [Option ID = 35453]

15) In an AC circuit, if reactance is zero, then the power factor will be

AC Jfhersdl TR Ne=T T 3bd @ ulaR Waer VIR,
[Question ID = 8861]

1. Two / &M [Option ID = 35564]

2. Unity / gt [Option ID = 35561]
3. Zero / ][ [Option ID = 35563]
4. Infinite / 3B [Option ID = 35562]

Correct Answer :-
« Unity / A<t [Option ID = 35561]

16) According to 1S:3034-1966, the resistance of Power Wiring Earthing should be
IS:303¥-2R&§ R, UlaR arafe siffirar ufaer 3R SATIAS 3.
[Question ID = 8840]

1. 1 ohm [Option ID = 35477]

2. 0.1 ohm [Option ID = 35478]

3. 0.5 to 1 ohm [Option ID = 35479]
4. 1 Kilo ohm [Option ID = 35480]

Correct Answer :-
e 1 ohm [Option ID = 35477]



17) FET stands for

THEEl U

[Question ID = 8850]

1. Field-Emission Transistor / lcs-THRM If<Rex [Option ID = 35518]
2. Field-Effect Transistor / Thice-gthdc Clf<aRex [Option ID = 35517]

3. Field-emitting transistor / Wice-TfHET SIf9ReX [Option ID = 35520]
4. Free-effect transistor / l-3thde 'cﬂ%l?? [Option ID = 35519]

Correct Answer :-

« Field-Effect Transistor / Hics-sthac CIf-aRex [Option ID = 35517]

18) Ampere per meter is

TR wreft Hew 33,

[Question ID = 8823]

1. Capacitance / HURCH [Option ID = 35410]

2. Magnetic Flux / WEFCIT%’ [Option ID = 35412]
3. Magnetic Field Strength / Ga®1a &3 T [Option ID = 35409]
4, Self Induction / R v S8R [Option ID = 35411]

Correct Answer :-
« Magnetic Field Strength / GE®T &3 AT [Option ID = 35409]

19) If a piece of iron is to be electroplated by gold layer, find the mass of gold layer deposited on its
surface in 10 minutes if current flowing is 50 A and magnitude of E.C.E. is 0.0003.

TR TETET AIGSTHT g SdTay JI-ITET JaTHT 33 FATE ST SR 3T a) dee Yo T ST 5. #t.3.3
THTUT 0,0003 SRTANT 20 fAf-eTd w@rear YR HTIER fardt Ai=arar garn gisa o Jim?

[Question ID = 8828]

1. 9.0 g [Option ID = 35429]
2. 4 g [Option ID = 35430]

3. 4.5 g [Option ID = 35431]
4. 8.2 g [Option ID = 35432]

Correct Answer :-
e 9.0 g [Option ID = 35429]

20) We will be going to make a if we mix Phosphorus with silicon.

I 3T fufere = g fyyor s smqur TUR HIUMR 3ATEId.

[Question ID = 8829]

1. n type semiconductor / Uch UhRHI IHadex [Option ID = 35433]



2. insulator / fageRIYU® [Option ID = 35436]
3. p type semiconductor / U TR Affdreac [Option ID = 35434]
4. diode / STATS [Option ID = 35435]

Correct Answer :-
« n type semiconductor / & UHRAT AHdedex [Option ID = 35433]

21) If the peak value of the Alternating Current is 230 V, its average value will be

JEEIATS Pied FUTA &I 30 FIeT TR, [T IRRIRT &I 3.
[Question ID = 8826]

1. 184.3 V [Option ID = 35424]
2. 146.28 V [Option ID = 35421]
3.220.2 V [Option ID = 35422]
4.171.7 V [Option ID = 35423]

Correct Answer :-
e 146.28 V [Option ID = 35421]

22) If the synchronous speed of a motor is 1000 rpm whereas its supply frequency is 50 Hz, what
will be the number of poles in the motor?

a&:%jmwmaﬂ 1000 rpm 3R R ™I RAST IRARGT 50 el 3d ax Hiexws fabedt via
?

[Question ID = 8859]

1. 10 [Option ID = 35556]
2. 4 [Option ID = 35554]
3. 12 [Option ID = 35555]
4. 6 [Option ID = 35553]

Correct Answer :-
* 6 [Option ID = 35553]

23) If the teeths of a tenon saw are worn out, in order to make the teeth sharp,

9 |7 =1 &1 Ji YR YT STedT, T YR HIUITHTST

[Question ID = 8822]

1. It must be rubbed on the floor. /?f TRMER IS UTfgold. [Option ID = 35408]

2. It must be rubbed with a triangular file. / QAR TR WIsd T UTfgel. [Option ID = 35405]
3. It must be heated / d ATafde Ifgsid. [Option ID = 35407]

4. It must be tempered / d ¢ P Urfgeld. [Option ID = 35406]

Correct Answer :-
« It must be rubbed with a triangular file. / TTER SRITR WTsd OIGe! UIfgS!. [Option ID = 35405]



24) In synchronous generator, voltage regulation is NOT always positive for

[Question ID = 8854]

1. capacitive load /9HTs® WIS [Option ID = 35536]
2. Inductive load / &W?’ﬁg [Option ID = 35535]
3. Resistive load / RIS dls [Option ID = 35534]
4. Leading load / 3T @S [Option ID = 35533]

Correct Answer :-
« Leading load / 3URJM A8 [Option ID = 35533]

25) Electrodynamometer Instrument measures

TSI ggiensd Hisdrd.

[Question ID = 8858]

1. DC only / %ad DC [Option ID = 35550]

2. AC and DC both / AC 30T DC [Option ID = 35549]

3. AC only / ®dd AC [Option ID = 35551]

4. Neither AC nor DC / AC 3TfOr DC &IHT AITg! [Option ID = 35552]

Correct Answer :-
+ AC and DC both / AC 30T DC [Option ID = 35549]

26) Electromagnetic Interference in TN-C earthing system is

Fea-3t el Renued saRIIRS gexfrar= 3.

[Question ID = 8839]

1. high / 3= [Option ID = 35473]

2. moderate / A¥IH [Option ID = 35475]
3. low / T [Option ID = 35474]

4. very low / U %4 [Option ID = 35476]

Correct Answer :-
» high / 3= [Option ID = 35473]

27) A 3-pin socket has the largest hole of
3-fU=T Aibeaed wafa ais fox o 3d.

[Question ID = 8833]

1. Neutral or phase / WWW [Option ID = 35452]
2. Neutral / ggd [Option ID = 35450]

3. Earthing / 31ffiT [Option ID = 35449]

4. Phase / Trdf [Option ID = 35451]



Correct Answer :-
« Earthing / 3iffiT [Option ID = 35449]

28) Transformer Utilization Factor (TUF) of half wave rectifier is about

3fef-TTge PSPV TIBIAHR giefesie Faek (Sgu’) 3T
[Question ID = 8847]

1. 1.21 [Option ID = 35506]
2. 1.41 [Option ID = 35507]
3. 0.287 [Option ID = 35505]
4. 0.406 [Option ID = 35508]

Correct Answer :-
o 0.287 [Option ID = 35505]

29) Constant and variable losses in a generator are same. It is working at

SR pi<a< 9 *RTT /Y A 3-9dTd. & T BTH P,

[Question ID = 8855]

1. 25% of maximum efficiency / HHTA HIAHIAT 4% [Option ID = 35539]
2. 10% of maximum efficiency / HHTA BTIEHIAT 20% [Option ID = 35538]
3. 50% of maximum efficiency / FHHTA HRAEHTAT Wo% [Option ID = 35540]
4. Maximum efficiency / FHHTA BRIEHAT [Option ID = 35537]

Correct Answer :-
» Maximum efficiency / HIA PHIAEHT [Option ID = 35537]

30) A collector-to-base bias circuit has the following values:-
RB = 270 kW; RC = 2.2 kW; VCC = 18 V and transistor hFE = 100.

Calculate VCE.

FATeR ¢ o 9199 Aiben s @it o4 3gd:-

3RET = 270 fFade; R = 2.2 FT&Y; VCC = 18 V 3T STfReR TIUWS = 100.
RIS fovet o |

[Question ID = 8851]

1. 10.2 V [Option ID = 35521]
2. 3.51 V [Option ID = 35522]
3. 5.1 V [Option ID = 35524]

4. 20.4 V [Option ID = 35523]

Correct Answer :-
e 10.2 V [Option ID = 35521]



31) Power gain in CB configuration of transistor is

TTfareve diel SIRFRIFAS UfaR 3+ 3Te.
[Question ID = 8849]

1. Very high / 31fc=rT 3= [Option ID = 35516]
2. High / 3= [Option ID = 35515]

3. Low / &H! [Option ID = 35513]

4. Medium / H&H [Option ID = 35514]

Correct Answer :-
« Low / @I [Option ID = 35513]

32) Zener diode are designed to operate under
W SIS © Sl aravaTaTdl fesmg o smed.

[Question ID = 8844]

1. Neither reverse nor forward bias/ Regd 30T BiRas STTY Gl ATe! [Option ID = 35496]
2. Forward bias / RS §T99 [Option ID = 35494]

3. Reverse and forward bias both / ﬁaﬁ 3T RS T aral [Option ID = 35495]

4. Reverse bias / g s [Option ID = 35493]

Correct Answer :-
» Reverse bias / Regd s [Option ID = 35493]

33) Form factor for an Alternating Current is 1.11. The ratio of its RMS value to Average value will
be

JTee-c1T Hic AT BIH hae 1.11 3P, AT ARTATH T IR T ol 8.
[Question ID = 8836]

1. 1/v/2 [Option ID = 35464]
2. V2 [Option ID = 35462]

3. 1.11 [Option ID = 35461]

4, 0.732 [Option ID = 35463]

Correct Answer :-
e 1.11 [Option ID = 35461]

34) What is being represented in the given symbol?

e snepdined ®ra g=ifqvara s 3mg?



T T
I . . .3

[Question ID = 8819]

1. Choke / 91 [Option ID = 35396]

2. Transformer / E'F\qﬂﬁﬁ? [Option ID = 35393]

3. Variable capacitor / ®RU&d HURTEX [Option ID = 35394]
4. Variable resistor / ®RU&d IORER [Option ID = 35395]

Correct Answer :-
e Transformer / E‘F\qﬂ?\l’ﬁT [Option ID = 35393]

35) The following symbol represents

Hreiid g #1a gxfaar

[Question ID = 8853]

1. XNOR gate [Option ID = 35532]
2. XOR gate [Option ID = 35529]
3. NAND gate [Option ID = 35530]
4. AND gate [Option ID = 35531]

Correct Answer :-

* XOR gate [Option ID = 35529]

36) Insulation Resistance is length of the cable.

[Question ID = 8827]

1. Directly proportional to square of / IR YT YHTUTT [Option ID = 35427]
2. Directly proportional to / de YA [Option ID = 35426]

3. Inversely proportional to / o9 GHTUMT [Option ID = 35425]

4. Inversely proportional to square of / T g YO [Option ID = 35428]

Correct Answer :-



« Inversely proportional to / & UHIUNT [Option ID = 35425]

37) A long shunt compound generator has an armature, series field and shunt field resistances of
0.04 Q, 0.03 Q and 200 Q respectively. It supplies a load current of 180 A at 400 V. Calculate the
generated e.m.f. Assume contact drop/brush = 1V,

TSHT A9 e SIS d-exded iR, fafvst fires snfor srw 0.0¥Q , 0,030 31T Y000 Tie fibes
%I%lﬁ;ﬂvamﬁv.WXoo%ﬁmmuoqsawmmmwm.mmﬁwém{.w.
e wi<ae giu/ax=2 . =1 iR<ia B

[Question ID = 8857]

1. 207.37 V [Option ID = 35547]
2. 414.74 V [Option ID = 35545]
3. 428.74 V [Option ID = 35548]
4. 829.48 V [Option ID = 35546]

Correct Answer :-
e 414.74 V [Option ID = 35545]

38) Soft soldering is done at a temperature
|ive Aies T ATIHTTT §ld.
[Question ID = 8830]

1. More than 540°C / 540 f&3 Sfctra™ Uefm 31feie [Option ID = 35439]
2. Of 720°C / 720 f&3t VfRI3RT [Option ID = 35438]

3. Below 450°C / 450 fS3t o™ dem T [Option ID = 35437]

4. Of 540°C / 540 T3 VRT3 [Option ID = 35440]

Correct Answer :-
« Below 450°C / 450 &t Ao e & [Option ID = 35437]

39) The quantities which vary sinusoidally with time are known as

PIATRT ATHIS S AR SUTYS BIP gral o THT0T BUH oEd .

[Question ID = 8863]

1. vector quantities / BRI PIfecrsl [Option ID = 35570]
2. phasor quantities / ToR Hifeers [Option ID = 35569]
3. tensor quantities / <R ®Ifwcesl [Option ID = 35571]
4. scalar quantities / ¥heR BIf<CISl [Option ID = 35572]

Correct Answer :-
» phasor quantities / ToR Pl [Option ID = 35569]

40) The melting point of Cadmium is

Fsfrgar faasvaran fig 318,




[Question ID = 8831]

1. 303°C [Option ID = 35444]
2. 321°C [Option ID = 35441]
3. 327°C [Option ID = 35442]
4. 302°C [Option ID = 35443]

Correct Answer :-
e 321°C [Option ID = 35441]

41) The maximum efficiency of a Class-A power amplifier is

FATH U UTaR SIfRABTIRN SHTd Srdedr 3Me.
[Question ID = 8865]

1. 75% [Option ID = 35580]
2. 50% [Option ID = 35577]
3. 66.60% [Option ID = 35578]
4. 33.30% [Option ID = 35579]

Correct Answer :-
» 50% [Option ID = 35577]

42) The gauge of super enamel wires is measured by

R 0 IR I = Hierd 9.

[Question ID = 8821]

1. Wire Gauge / IR TS [Option ID = 35401]
2. Steel Rule / ¥Id ¥ [Option ID = 35404]
3. Try Square / E;PJ@W [Option ID = 35403]
4. Screw gauge / @ﬁx—:r [Option ID = 35402]

Correct Answer :-
» Wire Gauge / AR Hi i [Option ID = 35401]

43) The decimal equivalent of (1110), is

()R MIAAGE S ____ 3%,
[Question ID = 8867]

1. 10 [Option ID = 35587]
2. 12 [Option ID = 35586]
3. 16 [Option ID = 35588]
4. 14 [Option ID = 35585]

Correct Answer :-
e 14 [Option ID = 35585]



44) The depolarizer in a dry cell is

I aus fEuerRTasR 3.
[Question ID = 8835]

1. Manganese dioxide / ﬁ?ﬁﬂmﬁ@ [Option ID = 35457]
2. Hydrochloric acid / BT3SRIGAIN® 3ATRIS [Option ID = 35460]
3. Sodium Phosphate / HIf$aH HIehe [Option ID = 35459]

4. Ammonium Chloride / 3 HITH FIRISS [Option ID = 35458]

Correct Answer :-
« Manganese dioxide / T STSUTRITSS [Option ID = 35457]

45) The following figure is the symbol of:-

QT TP HR YD 3ATg?

[Question ID = 8846]

1. Varactor diode / R SIS [Option ID = 35501]
2. LED / Udsa! [Option ID = 35504]

3. Solar cell / |I&R ¥d [Option ID = 35502]

4. Zener diode / SR 1S [Option ID = 35503]

Correct Answer :-
« Varactor diode / @¥aeR SIS [Option ID = 35501]

46) The following figure represents:-

@reite R sy gxifaa?



[Question ID = 8832]

1. Neutral or phase / gcdl fhar ter [Option ID = 35448]
2. Neutral / =J¢d [Option ID = 35446]

3. Earthing / 31fffT [Option ID = 35445]

4. Phase / BT [Option ID = 35447]

Correct Answer :-

« Earthing / 3iffiT [Option ID = 35445]

47) The following figure depicts:-

wrotd foema s1g eRifae ame?

==

[Question ID = 8825]

1. Tumbler type single way switch / ER el8U U<t AR &< [Option ID = 35418]
2. Fles Type Two Way Switch / TR 218U ga<l A 4 [Option ID = 35420]

3. Intermediate switch / gexfufoee Rag [Option ID = 35417]

4. Bed switch / 98 a4 [Option ID = 35419]

Correct Answer :-
« Intermediate switch / SexfHforge faa [Option ID = 35417]

48) The following truth table represents:-

Qreflel Y ST ¢ qRIfAudTd STl 3iTe:



Input Ouipat
A B Y
0 0 U 5
0 || | -
| 0 |
l | 0

[Question ID = 8852]

1. OR gate [Option ID = 35528]

2. NAND gate [Option ID = 35526]
3. XOR gate [Option ID = 35525]
4. AND gate [Option ID = 35527]

Correct Answer :-
e XOR gate [Option ID = 35525]

49) The unit of inductance is Henry but the unit of Inductive Reactance is

¥8aCH ° UHhd gl 318 o} ssfded Refae=1d tes 3MT8.
[Question ID = 8862]

1. Henry per meter / 85 U Hiex [Option ID = 35566]
2. Ohm / 318H [Option ID = 35565]

3. Ohm meter / 37189 Hiex [Option ID = 35567]

4. Ohm per Henry / 31gH Ul g3 [Option ID = 35568]

Correct Answer :-
« Ohm / 3{igH [Option ID = 35565]

50) Rubber valve of artificial respirator must be operated

PRAH yOTOIETIRER Gl qToReT Ui,

[Question ID = 8818]

1. 15-20 times/minute / {4-R0 des1/fHfE [Option ID = 35389]
2. 2-4 times/minute / 3-¥ de51/flfAeE [Option ID = 35390]

3. 60-90 times/minute / &o-Ro da51/fAfAE [Option ID = 35392]
4. 45-60 times/minute / ¥4-&o da51/fife [Option ID = 35391]

Correct Answer :-

e 15-20 times/minute / 4-R0 aET/ Ufie [Option ID = 35389]

Topic:- MAIN_Marathi Language



1) TR TeTd 1 SAUIRT X5 3fies .

[Question ID = 8771]

1. S [Option ID = 35202]
2. "I [Option ID = 35201]
3. ©1ST [Option ID = 35203]
4. 99 [Option ID = 35204]

Correct Answer :-
« &I [Option ID = 35202]

[Question ID = 8770]

1. 318 [Option ID = 35197]
2. JaT [Option ID = 35200]
3. Ul [Option ID = 35198]
4, 981d [Option ID = 35199]

Correct Answer :-
+ Tdl [Option ID = 35198]

3) WYE-WIHTAS , T9-
gfaera - 2
[Question ID = 8778]

1. IS 14 [Option ID = 35229]
2. UfeTRI® [Option ID = 35230]
3. Afdrear [Option ID = 35232]
4. YR [Option ID = 35231]

Correct Answer :-

. UfagRi® [Option ID = 35230]

[Question ID = 8773]

1. §¢ [Option ID = 35212]
2. St [Option ID = 35209]
3. HIF [Option ID = 35210]
4. HIIR [Option ID = 35211]



Correct Answer :-
« I [Option ID = 35212]

5) faq QU iy 4aq. a1 I UHR o,
[Question ID = 8780]

1. B1BRIAT [Option ID = 35240]
2. 3GRAE® [Option ID = 35239]
3. 9RIf [Option ID = 35238]
4, gymid [Option ID = 35237]

Correct Answer :-

« BIHRIYT [Option ID = 35240]

[Question ID = 8789]

1. Yug+3{Hd [Option ID = 35276]
2. gua+td [Option ID = 35275]

3. gUg+3cad [Option ID = 35274]
4. qug+rofl [Option ID = 35273]

Correct Answer :-
o JUY+3fHd [Option ID = 35276]

[Question ID = 8783]

1. Y [Option ID = 35250]
2. Uit [Option ID = 35251]

3. & [Option ID = 35252]
4. 98! [Option ID = 35249]

Correct Answer :-
+ J¥& [Option ID = 35252]

[Question ID = 8788]

1. f&71 [Option ID = 35271]
2. 3/HAHTG [Option ID = 35269]



3. HHERY [Option ID = 35270]
4. YS! 8T [Option ID = 35272]

Correct Answer :-
« HHRY [Option ID = 35270]

[Question ID = 8779]

1. QeI edl dR [Option ID = 35235]
2. 3diedl ok [Option ID = 35234]
3. Udiidadl ok [Option ID = 35233]
4. gTYeT ATEY [Option ID = 35236]

Correct Answer :-

« Tdlldsdl dR [Option ID = 35233]

10) qéta araTdia uyrde vty s,

TP EASITET A1 waf- Iara.
[Question ID = 8786]

1. IFeESIrE HUfET S{UHH B . [Option ID = 35262]

2. PGS HF Fal-t WA Fb1 H1? [Option ID = 35261]

3. 3fefeid! IPESITET | afHT I@ET lfgel. [Option ID = 35263]
4. gTUe! ATET [Option ID = 35264]

Correct Answer :-
o YIS HIT i} IR Th! BT? [Option ID = 35261]

11) qdta araran greridf vaty s,
IAT SATYS ATYVT FIUHAT BT ag TA?

[Question ID = 8784]

1. I YW FURAd dg 4. [Option ID = 35255]

2. I IS 3TN FURAd 4. [Option ID = 35253]

3. I TGS 3T FURIAd Jaradl Uifgsl. [Option ID = 35254]
4. giUS! 8T [Option ID = 35256]

Correct Answer :-

o I TS YT FURIAd darIa UIfgsl. [Option ID = 35254]



JeRaST
[Question ID = 8774]

1. 91d faq¥i=r ¥9g [Option ID = 35213]
2. GeRT feawian ¥5g [Option ID = 35215]
3. gUeh! AT [Option ID = 35216]

4. Ay feadi=n ¥4g [Option ID = 35214]

Correct Answer :-

o TeRT fea=T 9g [Option ID = 35215]

[Question ID = 8775]

1. 901 [Option ID = 35218]
2. U&Ul [Option ID = 35217]
3. USUI [Option ID = 35220]
4. Y1 [Option ID = 35219]

Correct Answer :-
« Ul [Option ID = 35218]

14) Ui SIS s ARTST Hfd=reg fereT.

LY

< -
[Question ID = 8776]

1. 9RT [Option ID = 35223]
2. U1g [Option ID = 35224]
3. dX [Option ID = 35221]
4. gId [Option ID = 35222]

Correct Answer :-
e dX [Option ID = 35221]

[Question ID = 8772]

1. U<q [Option ID = 35208]
2. Ul [Option ID = 35205]
3. BId [Option ID = 35206]
4. U1 d [Option ID = 35207]

Correct Answer :-



« US4 [Option ID = 35207]

[Question ID = 8781]

1. 3{f¥&eh [Option ID = 35241]

2. ST [Option ID = 35242]

3. HHARAT [Option ID = 35243]
4. QST 8T [Option ID = 35244]

Correct Answer :-
o HHIRCI [Option ID = 35243]

17) TeTd 9 JHUMRT Veq 3fieT.
[Question ID = 8787]

1. I [Option ID = 35266]
2. ART [Option ID = 35268]
3. T[alTsl! [Option ID = 35265]
4. IT%T [Option ID = 35267]

Correct Answer :-
« QTS [Option ID = 35265]

18) ‘HR’ T YT AIgH dUR AT 9R°g YATg fiesr.

[Question ID = 8777]

1. At [Option ID = 35227]

2. 9iHR [Option ID = 35225]

3. g1t ATeY [Option ID = 35228]
4, FHHR [Option ID = 35226]

Correct Answer :-
« JUPHR [Option ID = 35226]

19) Org fRmfRe s yaly shesar.
3Tl U fRravdid RAYR 3.

[Question ID = 8782]

1. IO 16T [Option ID = 35248]

2. 3fTol WU, 'THudid TRAYR 34dl.' [Option ID = 35247]
3. 3ot TN, feHuaid TRAYR 3R, [Option ID = 35245]

4, 3Tl TEUME!, ferHugid TRAYR 3RIAT? [Option ID = 35246]



Correct Answer :-

o 3{ToT WU, "FIHUgid IRAYR 31l [Option ID = 35247]

20) IRy fRMRRR T yafy sitesar.
g TR & ATAE SR farelt
[Question ID = 8785]

1. 'd18, IR o AT 3idR fad?' [Option ID = 35257]
2. 18! ARG o HIGE 3R fadit, [Option ID = 35259]
3. g1t T8l [Option ID = 35260]

4, T8, AP o AT iR fadil? [Option ID = 35258]

Correct Answer :-

. T, IR o HICHTE SfaR fadit?' [Option ID = 35257]

Topic:- MAIN_LR

1) Which of the following pair exhibit the same relationship as exhibited by the given pair of words:
Doctor : Nurse

"3 gxifaciear TsIraT SSIYHTO Wieltd BT Seid Say gxifaar amg?: Siaes: 7 "
[Question ID = 8989]

1. Director : Actor / f&7e=i@: 3T [Option ID = 36075]
2. Author : Reader / TaH: AEDH [Option ID = 36074]

3. Police : Criminal / GIei: ﬂ%"ﬂ? [Option ID = 36076]
4, Student : Teacher / faemdt: Rierew [Option ID = 36073]

Correct Answer :-

« Director : Actor / feTefas: 3if¥=ar [Option ID = 36075]

2) Which of the following diagrams indicates the best relation between India, Earth and Milky way?
WIAAIP! DIV Pt WRd, Gt TidT SMHTRAA i wataw way gxifaa?

[Question ID = 8985]

1. " [Option ID = 36058]

«3)

2. [Option ID = 36059]

[Option ID = 36057]



BLP

4. O [Option ID = 36060]

Correct Answer :-

I [Option ID = 36057]

3) Dev, Rahim, Kaur,Archit, Sneha, Khushi, Esha, and Rajiv are sitting around a circle, facing at the
center, in an interview. Kaur is immediate right to Dev, Who is 4th to the right of Archit. Sneha is 2nd

to the left of Dev and is 4™ to the right of Esha. Khushi is 2" to the right of Rahim, who is 2"9 to the
right of Rajiv. Who is third to the right of Dev.

39, 8w, IR, snfda, WeT, G=W, 30 1T AT THT garadia Ma H=+ 3MTd dis F& g9d ad. DR
ST T AR IS TSl gt Mg, St SMifauRgA ¥<ft 3g. |eT da=ar STauT Sre[en ga=an 3§ e
STFOT ST ITaaT aTeran ¥4t 3ire. QR Ifewear Serean e :F SR, WrettaTar ST IS[@T X BT 31,
ST I FIS[@AT 3T HHIBTAR BIVT 3T?

[Question ID = 8982]

1. Rajiv / XTSild [Option ID = 36047]
2. Rahim / Y814 [Option ID = 36046]
3. Sneha / W& [Option ID = 36045]
4. Archit / 3ffeid [Option ID = 36048]

Correct Answer :-
« Rajiv / I1Si1d [Option ID = 36047]

4) Kajal starting from her house, goes 6 km in the East, then she turns to his left and goes 3 km.
Finally she turns to her left and goes 6 km. Now how far is she from her house?

PO faeaT TRTUTGA URY Hd, 7o 6 Bt o1, Fax o STdiws god 3for 3 fat ird. sradi <t fa=am
TIPS aod 3MfoT 6 fseit ATq. 3imar ot foream wRTUREA fordt gR 3me?

[Question ID = 8969]

1.5 km / 5 fodt [Option ID = 35993]
2. 2 km / 2 foHit [Option ID = 35995]
3. 6 km / 6 faH [Option ID = 35996]
4. 3 km / 3 fooHT [Option ID = 35994]

Correct Answer :-

« 3 km / 3 &t [Option ID = 35994]

5) When the given figure is folded in a shape of dice then answer the following.

Q) What number will be opposite to 5?



QT TPt BIRATAT HTHRTA GRS AT, WA THT IR 1.

UY) & T JHR S0 T=T 3HA?
=
2 3
1

[Question ID = 9005]

1. 1 [Option ID = 36137]
2. 4 [Option ID = 36140]
3. 2 [Option ID = 36138]
4. 3 [Option ID = 36139]

Correct Answer :-
e 1 [Option ID = 36137]

6) Analyze the following situation and give your reaction:-

You live in a society. You find your neighbor so annoying that you can't concentrate on your work
and can't live in peace, you will?

@refter uRfRIAR fageyor = efor smueht wfafssar am:-
3ITYUT T JIATAC] IZTATd. STUAT AR} TGl TRISTS 3 1 MTYUT TUIT HTHIGR T Pigd B Udhd
ATEY YT Aiadd O] XIPd AATEY, AR SATYVT o HTA?”

[Question ID = 8979]

1. None of these / TTUeh! Tehe! ATaT [Option ID = 36036]

2. Complain about it to the chairman of society. / ®ITdgd = seefids dhR HRId. [Option ID = 36033]

3. Talk to them and tell them about difficulties you are having due to them. / &=t Eﬁ?ff qrerdr HUIRIEIRIC
Hrfgd! T e, [Option ID = 36034]

4. You will get angry and pick up a fight with them. / THTAT I TS SHTOT TreT TR ARTART HRI. [Option ID
= 36035]

Correct Answer :-

« Talk to them and tell them about difficulties you are having due to them. / &Rl S WA BT
AT ATl T M. [Option ID = 36034]

7) Analzye the following statements and then answer the question.

if "Chin Pu Do Tou" is the code for "Ship is in ocean"



"Su Tou Pu Ro"is the code for "Pacific ocean is biggest"
"Mo Pe Na Ho Do Cho" is the code for "Sailing against wind in the night"

Then, "Is Pacific biggest ocean ship in night" is coded as:-

1)Pu Su Tou Ho Do Cho Ro

2)Pu Su Ro Tou Chin Do Cho
3) Su Ro Chin Tou Do Cho Pu
4) Ro Tou Chin Po Do Su ro .

Wreite areaTe fazawor 37 TfoT Hav U= SR 1.

SR "Chin Pu Do Tou"gT ®I$ “¥I¢ JqaId 3Te” ATl 38d,
"Su Tou Pu Ro"gT $Is “Urifth® Tyx Tala MeT 3Me” Wd! 34,
"Mo Pe Na Ho Do Cho" 3T ®1s "R a1 faes fa=A yara sor” gt s,

R iTfre & I SgEie Jafa M die e TRId! B s hd?

1) Pu Su Tou Ho Do Cho Ro

2) Pu Su Ro Tou Chin Do Cho
3) Su Ro Chin Tou Do Cho Pu
4) Ro Tou Chin Po Do Su ro .

[Question ID = 8995]

1. 1 [Option ID = 36097]
2. 4 [Option ID = 36100]
3. 2 [Option ID = 36098]
4. 3 [Option ID = 36099]

Correct Answer :-
e 2 [Option ID = 36098]

8) Re-arrange the following letters to form a meaningful word.

"ONMRGNI"

" 3refquf Tt gdta sHeR YgT-sqafeud .
" ONMRGNI "
[Question ID = 9006]

1.2,1,4,5,7,6,3 [Option ID = 36142]
2.3,1,4,2,7,6,5 [Option ID = 36141]
3.7,6,5,4,3,2,1 [Option ID = 36144]
4.1,4,5,3,7,6,2 [Option ID = 36143]

Correct Answer :-
e 3,1,4,2,7,6,5 [Option ID = 36141]

9) In a certain code If "THONDA" is coded as "KLQAD". Which is the code for "KITE"?

TR TN Aihdid UTHHSE "HONDA" BT ¥ "KLQAD" WU aTuRdl. “KITE” "KITE" T ®1S HIUT 318?



[Question ID = 8972]

1. ANKR [Option ID = 36008]
2. JTRN [Option ID = 36005]
3. NFWB [Option ID = 36007]
4. XDEB [Option ID = 36006]

Correct Answer :-
« NFWB [Option ID = 36007]

10) In a movie fair, there are some people. 80 of them Loves DC, 90 loves Disney while 100 loves
Marvel movies. If 40 loves both DC and Disney, 35 loves Disney and Marvel while 30 loves Marvel
and DC. If 10 loves all the three, then what is the total number of people present there? If everyone
loves at least one.

I H3RA PTE AP AR, AADT ¢o TU=T SR masal, o SurHT fER 3masar 3fdr qoo Suri=m Arda
YRS ATGSATd. Yo SUTHT STt 0T fEA gt masard, 3w STori=T f$| S1for arda =gt 3Mfor 30 Sori=
Traa ST St SET STasdrd. SR {0 SUTHT 94 fagl Sasd Sdid av dd THUT fvd! el Sufeud
3Tea? R YASTar fPHH U Sasd.

[Question ID = 8993]

1. 250 [Option ID = 36090]
2. 200 [Option ID = 36089]
3. 175 [Option ID = 36092]
4. 135 [Option ID = 36091]

Correct Answer :-
e 175 [Option ID = 36092]

11) Arrange the following in orderly manner:-

1) Brain

2) Stomach

3) Knee

4) Foot

5) Vocal chords

refte qydid! g Hig il BT
1) #g

2) Ui

3) ST
4) UTgT de5 T

5) ¥WRdq
[Question ID = 8994]

1. 1,2,3,4,5 [Option ID = 36093]
2.1,3,2,5,4 [Option ID = 36096]
3.1,5,2,3,4 [Option ID = 36095]
4. 1,4,5,3,2 [Option ID = 36094]



Correct Answer :-
» 1,5,2,3,4 [Option ID = 36095]

12) Six people are sitting in a row, they are Archit, Akshay, Naman, Naveen, Karan, and Deepak. It
is also known that there are as many people between Akshay and Naveen as there are between
Karan and Naveen. The only person between Archit and Naman is Naveen. Karan is sitting
somewhere to the right of Akshay. Who is Definitely sitting at the end of row?

3nfda, srer, T4, T4, Hwor 3for Suss & HeT A NS ST STed. & T A el
Rraaar saewit smRd faaeam et HIo1 T 7 areaTa R4, snfia Snfor 9+ gieared wae Udhd ot
I 3TE. BT AT STAIDS Poad] Tl 3HTe. A AT 3T ATEt HIvT a0 3HT8?

[Question ID = 8970]

1. Akshay / 3{&d [Option ID = 35997]

2. Deepak / 19 [Option ID = 35999]

3. Karan / &UT [Option ID = 35998]

4. None of these / TSI Tehg! AT [Option ID = 36000]

Correct Answer :-
« Deepak / &4 [Option ID = 35999]

13) By how much degree minute hand is ahead of hour hand in 1 minute?
fafre wrer { ffFeTa 9~ STeaT=n fadt sivm ge et
[Question ID = 8976]

1. 6 Degree / 6 3% [Option ID = 36022]

2. 11/ 2 Degree / 11 / 2 3= [Option ID = 36023]
3.7/ 2Degree /7] 2 3T [Option ID = 36024]
4. 7 Degree / 7 3% [Option ID = 36021]

Correct Answer :-
e 11/ 2 Degree / 11 / 2 3= [Option ID = 36023]

14) There are 6 people Archit, Naveen, Akshay, Naman, Deepak, and Prashant. Archit is taller than
Akshay. Naman is shorter than Deepak. Deepak is taller than Prashant. Prashant is shorter than
Naman but taller than Naveen. Naman is taller than Archit. Naveen is shorter than Akshay.

Who is tallest among all?

3iffa, 719, srera, 79, U, U=Tid =T & Sl 3ed. Sfid Srermuen 99 e, U= I Supuen st
TR, UP Y=TITUET I M. URTiadt S TAT Uem Ht MR yor aY AdET S9 SR, A Rfauen 99
TR, =N S Srerauen HH 3R,

Tafd 39 BT 318?
[Question ID = 8973]

1. Naman / 4 [Option ID = 36010]
2. Akshay / 31&d [Option ID = 36011]



3. Prashant / URIid [Option ID = 36012]
4. Deepak / 4U& [Option ID = 36009]

Correct Answer :-
+ Deepak / &Ue [Option ID = 36009]

15) There is a group of 7 people, 3 plays basketball while 4 plays cricket. They all are standing in a
queue for name registration from Right to left. If no cricket player can be at last position from both
sides. No basket player can stand adjacent to each other and if one cricket player is standing at 3"
position from left and no 3 cricketers can stand together in the row.

Question : Sum of positions of all the basketball players standing from the right will be?

"o AIBTET TH 71T TR, WUP! 3 TRbeard WoodTd, @) ¥ fhdbe @odrd. d ¥d A1g Aiguiard) Ia

Sudie g SHdiPs 3W 3HTed. SR fibde WooTg I8! ATSjAT AT IUT IR APd W, G TRPbedld WooTg
THAPT USRI I E P AT AT TP fohbe WoTg SHAIP G 3T HHIDER 30 3TI0T 3 fbdbew
I NBH IY i,

UY: AP g ST AR TRbedael BTge I THUT TB fadiz?

[Question ID = 8990]

1. 10 [Option ID = 36077]
2. 12 [Option ID = 36080]
3. 15 [Option ID = 36079]
4. 9 [Option ID = 36078]

Correct Answer :-
e 12 [Option ID = 36080]

16) A cube Completely painted from outside then the cube cut into 343 pieces, then the number of
cubes whose atleast 1 face is painted is:-

THT FIAT ITe¥dT U YUYl TIFTAET 3017, TR AT 3¥3 Jhs HIvard 3MTd, a= fHam 2 919 Ffaaett
3Tg 3 farelt wRpe sreltar?

[Question ID = 8997]

1. 218 [Option ID = 36108]
2. 100 [Option ID = 36105]
3. 125 [Option ID = 36106]
4. 130 [Option ID = 36107]

Correct Answer :-
« 218 [Option ID = 36108]

17) A boy has Rs 700 in the denominations of Rs 5, Rs 10, Rs 20 .The number of notes of each
denomination is equal. What is the total number of notes that he have?

THT ATITRIT THUT . 900 SADI TFHH YA WA F.4, F.20, T30 T AIeT 3gd. TAD IHHAT Aieidl
HEAT JHT 3T, TR THUT et AeT sradia?

[Question ID = 8992]



1. 100 [Option ID = 36087]
2. 50 [Option ID = 36085]
3. 60 [Option ID = 36086]
4. 40 [Option ID = 36088]

Correct Answer :-
e 60 [Option ID = 36086]

18) 1f 25t december 2017 is Monday, then 10 march 2020 will be:-

25 fEda 2017 FHART 3RS a= 10 ATH 2020 FH JEA?
[Question ID = 8978]

1. Monday / §HdR [Option ID = 36029]

2. Sunday / XfdaR [Option ID = 36032]

3. Tuesday / H&5dR [Option ID = 36030]
4. Wednesday / UdRR [Option ID = 36031]

Correct Answer :-
« Tuesday / HT3dR [Option ID = 36030]

19) A polygon has 8 vertices, how many diagonals are there in the polygon?

THT TgY ATpdian ¢ BRI smgd. 9= @ enpeia fadt wof Y1 3mga?
[Question ID = 8974]

1. 22 [Option ID = 36014]
2. 20 [Option ID = 36013]
3. 18 [Option ID = 36016]
4. 14 [Option ID = 36015]

Correct Answer :-
e 20 [Option ID = 36013]

20) Find the statement that must be true according to the given information.

Ramesh has a paper route. Each morning, he delivers 40 newspapers to customers in his
neighborhood. It takes Ramesh 55 minutes to deliver all the papers. If Ramesh is sick or has other
plans, his Cousin Suresh, who lives on the same street, will sometimes deliver the papers for him.

e MRER SRR 3RIad fAuT Hiv & JFm.

IHRMET IAUT IS U AT 3R, ISl HehTas! df Tl SIaes UTH=AT UTgdh T ¥o TaATUS areuddl.
d FAHTUT qICUgTHTST IATET kY4 e anTdrd. IR o) SRIeUT fhar #1E) SO &1 SRIeU™, T
fa@Toft TRURT @A WIS e Fefiw e et aduHETE areusdl.

[Question ID = 8983]

1. Suresh would like to have his own paper route. / XA ATET Wd: 91 FAHHYET AT 3TdSd. [Option ID =
36052]



2. It is dark outside when Ramesh begins his deliveries. /Tﬁ'-‘«’[ H=qTd Pl dgl dler hIo[d 3. [Option ID =
36051]

3. Ramesh and Suresh live in the same neighborhood. / YHRT § YT TehTd fda1oft IIgdrd. [Option ID = 36049]

4. It takes Suresh more than 50 minutes to deliver the papers / ﬁ?Qla UMY areUarSt Yo A SIRa
NTdTd. [Option ID = 36050]

Correct Answer :-
« Ramesh and Suresh live in the same neighborhood. / YHRT d YRR ThTd fEHIUN AGdTd. [Option ID = 36049]

21) Find the missing image.

MBATT AT TPHel BT o i

[ =
1 2

[Question ID = 9001]

P

Y

1. L= [Option ID = 36123]

~
2. L =" [option ID = 36122]
3. - [Option ID = 36124]

4, [Option ID = 36121]

Correct Answer :-

« L= I [Option ID = 36123]

22) Find the missing image.

MBATT AT TPHel BT o .

[Question ID = 8988]

1. : [Option ID = 36072]

2. [Option ID = 36071]



3. [Option ID = 36069]

4. [Option ID = 36070]

Correct Answer :-

. [Option ID = 36070]

23) Find the missing image:-

TS AT STt 3Tl BV o Ji.
] I
°

[Question ID = 9000]

1. E [Option ID = 36118]

2. [Option ID = 36117]
3. [Option ID = 36119]
4 L—1 [Option ID = 36120]

Correct Answer :-

. :é [Option ID = 36119]

24) Find the missing image :-

MBATT AT THel BT o Ji.

B =
G °




[Question ID = 8977]

Y

1. [Option ID = 36025]
D

2. [Option ID = 36028]
E

3. [Option ID = 36027]

4, L—— [Option ID = 36026]

Correct Answer :-

. [Option ID = 36027]

25) Find The missing image:-

TS AT STt STl HIvL o Ji.
Ly
- J‘.,./-"/I

[Question ID = 8987]

1. [Option ID = 36066]

2. [Option ID = 36065]

]

3. £ [Option ID = 36067]
I

¥

4. /| [Option ID = 36068]

Correct Answer :-

./l [Option ID = 36068]

26) Find mirror image of following :-

QT TPt Sac Ulagpdl em:-



PR

[Question ID = 8984]

1. [Option ID = 36054]
O
I
2. [Option ID = 36056]
3. [Option ID = 36053]
o
)
4, [Option ID = 36055]

Correct Answer :-

A9

. [Option ID = 36053]

27) Find mirror image :-

QT TPt Sac Ulagpdl em:-

T Arrfeds

[Question ID = 8999]

3

1. [Option ID = 36115]

=

2. [Option ID = 36114]




2

3. [Option ID = 36116]

2

4, [Option ID = 36113]

Correct Answer :-

. [Option ID = 36115]

28) Anu told Akshay "He is half of the age of Ram's at present and Ram's age is quarter the age of
his parents combined ". If mother's age is 32 years and father's age is quarter more than the age of
mother. What is the age of Anu?

S ST Fifad BT ST AT 9 AT A 3re ST IR aU Tt STSafS oiedT 99Tt aRoeT -
j‘g’mgfaran%. TSR 97 3R T4 AW VT afTerie 9 SATS=AT TUTIEHT Tp-AgUieT 3ifie rear, e a9
?

[Question ID = 8975]

1. 9 year / 9 9% [Option ID = 36019]
2. 4 year / 4 @ [Option ID = 36020]
3. 2 year / 2 @ [Option ID = 36018]
4.5 year / 5 98 [Option ID = 36017]

Correct Answer :-
« 9year /93y [Option ID = 36019]

29) What was the day of week on 19 November 1994?

2R IR 2R Y el HIUET IR gidT?
[Question ID = 8998]

1. Saturday / AR [Option ID = 36111]
2. Monday / |HaR [Option ID = 36109]
3. Sunday / IfdaR [Option ID = 36112]

4, Tuesday / HiTesdR [Option ID = 36110]

Correct Answer :-
« Saturday / AR [Option ID = 36111]

30) Read the given conditions carefully and give answer:-

Performance of a laptop can be given by:-

1) Laptop has a cost price of 50,000 rs and comes at 10% discount on christmas.
2) Laptop has 4GB ram,1 TB Hard disk,1 GB graphics card.



3) It will be used for playing heavy games and multi process.

PIBoIga® feaedr 3t aram ST o .
UHT qUCIud) SrigHdr:-

1) Suerus fHud 50,000 TUA 3T ST TR ATATSTI 0% TE TR,
2) HUSTIH 4 Siiel ¥, 1 At 818 fov, 1 oiid uftrey #18 3rrs.
3) T 24t T ST Hedt NIt SuahT St g a. "

[Question ID = 9004]

1. Only 1 is sufficient / e 1 GY T8 [Option ID = 36133]
2. Only 3 is sufficient / $ae 3 G 3Tg [Option ID = 36135]
3. Only 2 is sufficient / HID 2 Eﬁ@ 38 [Option ID = 36134]
4. None of these / 10! HTalal ATa! [Option ID = 36136]

Correct Answer :-
» Only 2 is sufficient / HID 2 Eﬁﬁ 38 [Option ID = 36134]

31) Read the statement and answer.

1) No table is chair
2) All chairs have 4 legs.

Conclusion:-
1) No table have 4 legs
2) Some chairs are table

"= =T Sfor I .

1) $ood <ad & Al el
2) Td AT aR U 3R,
e -

1) HIUIATE! TTATAT 4 UTT ATSI.
2) SIS geai eaa e,

[Question ID = 8996]

1. Both 1 and 2 follows / 1 30T 2 TT gl WIATAYHTU! [Option ID = 36103]
2. Only 2 follows / %des 2 TTATAYHIT! [Option ID = 36102]

3. Only 1 follows / %des 1 WTATAYHTT! [Option ID = 36101]

4. None of these / it Tdhe! ATl [Option ID = 36104]

Correct Answer :-

« None of these / I Thg! ATE! [Option ID = 36104]

32) Read the statement and answer.

1) All mobiles are iphone.
2) Some iphones are hackable.
3) Some hackable are mobiles.

Conclusion:-



1) Some mobile are hackable.
2) Some hackables are iphone.
3) Some hackable are not mobile.

faem= arar 3nfor IR ar:-

1) gd METSd MBI 3ATed.
2) FTE! ATAWIF TP HIVAIRY 33 d.
3) FTE! 5P HIVUNRY AT 3Mad.

fAreep:-

1) HTE! HIEA 8P HIVATARY 3{Ted.
2) FTE! TP HYVITIRY MTAHI 3MTRd.
3) P18 § HYVINNY Hiarsd TSI

[Question ID = 8971]

1. Only 2 follows / T R &Wa [Option ID = 36002]
2. Only 3 follows / T 3 3fIERIA [Option ID = 36003]
3. All follows / H’qcﬁi’ [Option ID = 36004]

4. only 1 Follows / %dd § 3FJERId [Option ID = 36001]

Correct Answer :-
« All follows / ¥4 Tz, [Option ID = 36004]

33) Read the statement and answer :-

1) Some tomatoes are red.
2) All red are ripe.

Conclusion:-
1) All tomatoes are ripe.
2) No tomatoes are ripe.

faem= qrar anfor IR 1.

1) HTE} Sl AT TR,
2) T4 arel fUpad 3med.

fre: -
1) 9d enfel e oM.
2) eiel fuwad TEl.

[Question ID = 8986]

1. Both 1 and 2 follows / 1 30 2 TT g WTATAYHTT! [Option ID = 36063]
2. Only 2 follows / Tad 2 WIEAYHTU [Option ID = 36062]

3. Only 1 follows / %95 1 WTATTIHTT! [Option ID = 36061]

4. None follows / ®Tgla! ATe! [Option ID = 36064]

Correct Answer :-
+ None follows / ®Tglal ATe! [Option ID = 36064]



34) Read the following statement carefully and answer the question following:-

A is the father of C, but C is not his son.B is the daughter of C. Z is the wife of A. M is the brother of
C. N is the son of M. L is the wife of M. T is the father of L.Who is Grandmother of N?

"géid fau™ Srosiigde arar for Wi vy IR @ -

A T C 91 fUar 3mg, Ui C /=T &I ATel. B § C o $=u1eig . Z € A. T Udl 318, C 9T UTS M 3T8. N 8T M
T G 313, L 1 M o Ut 38, T8 L o ISIa 318 | N o 3ATSit Bior?

[Question ID = 8980]

1. N [Option ID = 36039]
2. A [Option ID = 36037]
3. C [Option ID = 36040]
4. M [Option ID = 36038]

Correct Answer :-
e A [Option ID = 36037]

35) Pointing at a picture Shalini said to Rohan "The man standing at back holding the waterbottle is
brother of your only sister's mother while man standing in left of him is the only son in law of that
man's father , who is on the right, and the one sitting at bottom is the brother of the person on left."

Q) How is Rohan related to the person on left.

oS uige e gt wurmett, “uTvaT! STed! FTaTd R UTSTHT IUT ST HIVH T g3l UHag
SiguiieaT AT UTS, 3T R WT=AT STAIPhs IUT T HIUH T T HIVRITAT af$aiar UHHg oids 38, S
IodIPS 3Te, AT WTelTe SHAET AV BT SHIPS SRTAedT HIUHTET HTS, 3.

) SAiPS AT HIUTHTRN A= ATd S1I?
[Question ID = 9003]

1. Son / &I [Option ID = 36129]

2. Father / Sid [Option ID = 36130]

3. Cousin / Jad HT3, 3Ydl §61UT [Option ID = 36131]
4. Uncle / &Il [Option ID = 36132]

Correct Answer :-
» Son / & [Option ID = 36129]

36) Pointing to Sarla, Ridhima said, "She is the only daughter of my Father's only daughter". How is
Ridhima related to Sarla?

TRt ATd F?

[Question ID = 8991]

1. Aunt / HTa=fT [Option ID = 36083]
2. Mother / 31TS [Option ID = 36081]
3. Sister / SGIUT [Option ID = 36082]



4. Neice / YTt [Option ID = 36084]

Correct Answer :-
« Mother / 3MS [Option ID = 36081]

37) If "ARMSTRONG" is coded as "ZINHGILMT" Then "VXPU" will be coded as:-

SR TETRIT HiddId USHE "ARMSTRONG" BT Xeg "ZINHGILMT" U qIuRdl. X "VXPU" 9T HIs
HIUAT 3?2

[Question ID = 8981]

1. ECKF [Option ID = 36044]

2. CEDR [Option ID = 36041]
3. MORN [Option ID = 36042]
4. NODE [Option ID = 36043]

Correct Answer :-
o ECKF [Option ID = 36044]

38) Ankit, Becky, Chinku, Deepu, Eli, Fancy, Golu and Himanshu are sitting around a circle facing to
center. Fancy is third to the right of Chinku and second to the left of Himanshu. Deepu is not an
immediate neighbour of Chinku or Himanshu. Eli is to the immediate right to Ankit, who is second to
the right of Golu.

Question :- Who is sitting between Golu and Deepu?

sifdpd, 9, fig, fay, geit, B, M snfvr fgwig) 8 Tt ManHiad qufdges dis o ua Med. b=t
81 i Sordiws fawst ame enfor fewizmen sdtes gudt e, Ry &t feig fban fewizean @ie o
! ATEY. Feit sifdrdean @i Iordidws Tuc Mg T ft M Sodiss ga=aT HHIBTAR 3T3.

wY: - e 3fOT Y giear Aed Hvr 9 31?2
[Question ID = 9002]

1. Himanshu / fgH7g] [Option ID = 36127]
2. Becky / S [Option ID = 36126]

3. Fancy / =3l [Option ID = 36128]

4. Ankit / 3ifard [Option ID = 36125]

Correct Answer :-
« Fancy / %=t [Option ID = 36128]

39) If 5 people Arjun, Karan, Ankur, Rajiv, and Nikhil are standing in a queue. If Arjun is standing
between Ankur and Karan. Rajiv is standing at extreme left. Nikhil is standing at just right to Ankur.
Karan is standing at just right to Rajiv.

Who is on third position from left?

3SfH, PRI, 3P, et MiOT AR T SN SMRd. TR Sl 3B STIOT HUT Yieam Fedt 3M1g. Ieid AT
TIPS IUT 3MTe. TG it aw Sodies 3Me. HIVI ISl awdl g Sodihs SUT 3T8.



ST g fovT vy amg?
[Question ID = 8968]

1. Nikhil / AR [Option ID = 35992]
2. Ankur / 3{$X [Option ID = 35990]
3. Karan / XU [Option ID = 35989]
4. Arjun / 315 [Option ID = 35991]

Correct Answer :-
« Arjun / 359 [Option ID = 35991]

40) If 5 people Arjun, Karan, Ankur, Rajiv, and Nikhil are standing in a queue. If Arjun is standing
between Ankur and Karan. Rajiv is standing at extreme left. Nikhil is standing at just right to Ankur.
Karan is standing at just right to Rajiv.

Who is at the most right direction?

3G, TR, 3P, et T AR Iiva IU SMed. TR 3ol T 3P  HRUT JiedTd IHT e o= el
ST I ST 3iTe. AR sig=ar Sdi®s 31T, BV Ieiawl Iudids 3TB.

Hald Iodies HIvT 3MR?

[Question ID = 8967]

1. Rajiv / XTSild [Option ID = 35987]
2. Nikhil / fAR&e [Option ID = 35985]
3. Karan / XUl [Option ID = 35986]
4. Arjun / 3] [Option ID = 35988]

Correct Answer :-
« Nikhil / fAfRa@ [Option ID = 35985]

Topic:- MAIN_QA

1) 1f some of the roots of ax? + bx + ¢ = Obe equal to the sum of the squares, then:-

SR ax? + bx + ¢ = 07 Y AR INSgaP 3018, a:-

[Question ID = 8952]

1. ab + b° = Zac[Option ID = 35925]
2. bc + ¢ = 2ab [Option ID = 35926]

3. ac + & = 2bc[Option ID = 35927]
4. None of these / TT0®! Teha! AT [Option ID = 35928]

Correct Answer :-
« ab + b2 = 2ac[Option ID = 35925]



If A = cos20 + sin20, for all values of 0 then:-

TR A = cos20 + sin20, § THHIUI 0 =T Td eaiard! g, av:-

[Question ID = 8954]

[Option ID = 35936]
< A £ 2 [Option ID = 35933]

Correct Answer :-

(<A<t
. 8 [Option ID = 35936]

3) 1If p and g are non-zero constants, the equation x2 + px + g = 0 has roots a and B, the equation
gx2 + px +1 = 0 has roots:-

R pd g T YA R 3 3med T FHIHIT x2 + px + g =0 ° & a 9 B 3T, I THID gx2 + px + 1
= 0 ° Y M,
[Question ID = 8951]

1. A [Option ID = 35921]
2. [Option ID = 35923]

3. B2 [Option ID = 35922]
4. None of these / TTUS! Tehg! AT [Option ID = 35924]

Correct Answer :-
1 1
—and—

. “ P [option ID = 35923]

4) In a lottery, there are 10 prizes and 25 blanks. A lottery is drawn at random. What is the
probability of getting a prize?

T diedld 10 9879 9 4 NP 3R d. Al TR Ui+ Preel Sd. a¥ 9 arTuam! srerrdn fadt?

[Question ID = 8964]

1
1. 1% [Option ID = 35973]



N
~1 | k3

[Option ID = 35975]

w
| B

[Option ID = 35974]

| e

4, [Option ID = 35976]

Correct Answer :-

[ ]
=1 | B3

[Option ID = 35975]

5) From a pack of 52 cards, two cards are drawn together at random. What is the probability of both
the cards being kings?

4R THYA HIUAE! G U=l HTed. dR glal U ITerag fravar e fadt smg?

[Question ID = 8965]

25
1. 37 [Option ID = 35978]

1

2. 1 [Option ID = 35980]
35

3. 23 [Option ID = 35979]

4. ™ [Option ID = 35977]

Correct Answer :-

6) A man saves Rs. 320 during the first month, Rs. 360 in the second month, Rs. 400 in the third
month. If he continues his savings in this sequence, in how many months will he save Rs. 20,000?

THT ATV UfeeT Aig=ard & 320 S9d deil, gO=aT Ai-UTd $.360 SAP! gad ddl 9 faw=a1 aig=ard $.400
gﬁaﬁm%ﬁ.mmﬁmuwﬂ%ﬁmﬁmmwm,ﬁﬁﬁnﬁma}azo,ooosaﬁm
?

[Question ID = 8961]

1. 22 months / 22 A= [Option ID = 35963]
2. 20 months / 20 A [Option ID = 35964]
3. 25 months / 25 AR [Option ID = 35962]
4. 28 months / 28 AR [Option ID = 35961]

Correct Answer :-
« 25 months / 25 HAfg [Option ID = 35962]



If the numbers 3k + 4, 7k +1 and 12k— 5 are in A.P, then the value of kis:-

TR BHID 3k + 4, 7k +1 30T 124-5 § 3MHS T.U AW 3dd, TR A Ted HTA?
[Question ID = 8963]

1. 5 [Option ID = 35972]
2. 4 [Option ID = 35971]
3. 2 [Option ID = 35969]
4. 3 [Option ID = 35970]

Correct Answer :-
e 3 [Option ID = 35970]

8) A boat is rowed away from a cliff 150 m high. At the top of the cliff, the angle of depression of
the boat changes from 60° to 45° in 2.5 minutes. The speed of the boat (in m/sec) is:-

T® dic gegad Que Hl. 39 fpr=urean @R Ak, f==araar av=an HITUREA die Qe simogr &1 2.4 e
go d ¥4 3 Fgad.a? aidtar o (f/dde) fdl?

[Question ID = 8957]
2V3-3
1

. &5 iy
2. v3  [Option ID = 35945]

1. [Option ID = 35948]

3. V313 [option ID = 35947]

[Option ID = 35946]

Correct Answer :-
gizad.

3

. [Option ID = 35946]

9) If 8, 2 are the roots x2 + ax + b= 0 and 3, 3 are the roots of x2 + ax + b = 0, then the roots of
the equation x2 + ax + b = 0 are:-

WREITIB X2 +ax+b=0T 3NN 3,33B X2 +ax +b=0A YD WA R AU X2 +ax + b=
0T U F1?

[Question ID = 8950]

1. -8, -2 [Option ID = 35919]
2. -9, 2 [Option ID = 35918]
3. 8, -1 [Option ID = 35917]
4.9, 1 [Option ID = 35920]

Correct Answer :-
« 9, 1 [Option ID = 35920]



10)

Ifx=a(b-c)y=bc—a);z=cla—b).then E)g + (%)3 + G)Eis equal to

x=ab -y =be-axz=ca-b) T (2) +(2) + () avm fochv

[Question ID = 8947]

G
1. abc [Option ID = 35905]
A({x+y+z)
2. {abc)  [Option ID = 35908]
g X¥E
b
3. “7% [Option ID = 35907]
1 ayz
3

abe  option ID = 35906]

Correct Answer :-

xXyz

b
. %€ [Option ID = 35907]

[5+43 1
Hx =1 . find the value of x3® + ==
V53 *®
= T 1
o =28 o x4 o e e
V537 =

[Question ID = 8949]

1. 488 [Option ID = 35915]
2. 644 [Option ID = 35913]
3. 512 [Option ID = 35914]
4. 348 [Option ID = 35916]

Correct Answer :-
e 488 [Option ID = 35915]

1+cosd 1—cosd
1—cos8 1+cosf

fn<0< ?, then is equal to:-

1+cos8 1—cosf

o7 A HI ?

3
=@ <—, dl
LR = 1—cos8 1+cosf

[Question ID = 8955]



. 2 sec B [Option ID = 35939]

. 2 cosec 6 [Option ID = 35937]
. —sec 0 [Option ID = 35940]

. —2 cosec 0 [Option ID = 35938]

N W N =

Correct Answer :-
e —2 cosec 0 [Option ID = 35938]

13)
27 T 27 T .
The value OftEIIlTT—tEIIll_ — y@taﬂ; tELtll_ is -
5 15 L 15
L iy ; 2 k
tan = —tan— — y/3 tan — tan— o AT FrT 2
L 15 L 15

[Question ID = 8953]

1. 1 [Option ID = 35931]

3
2. [Option ID = 35929]
/3
3. ¥ [Option ID = 35932]
1
e

4, [Option ID = 35930]

Correct Answer :-

3
. ¥ [Option ID = 35932]

14) On the same side of a tower, two objects are located. Observed from the top of the tower, their
angles of depression are 45° and 60°. If the height of the tower is 150 m, the distance between the
objects is:-

TlavedT ThTd JIS[@T GIF a%q 3Ted, eTavedT RRexTaws- FRifaor o sraar o fewa 6 g6t awg 45° 9 60°
=T BT ST ATed. SR T eTad! 39t 150 m. 307, TR &1 aq (objects) A 3feR et sra?

[Question ID = 8946]

1. 90 m [Option ID = 35904]

2. 63.5 m [Option ID = 35901]
3. 76.9 m [Option ID = 35902]
4. 86.7 m [Option ID = 35903]

Correct Answer :-
e 63.5 m [Option ID = 35901]

15) A flagstaff of height 1/5 of the height of a tower is mounted on the top of a tower. If the angle
of elevation of the top of the flagstaff as seen from the ground is 45° and the angle of elevation of
the top of a tower as seen from the same place is 0, then the value of tan 0 is:-



U1 CTavaR, TTAveAT THUT ST 1/5 IT Saoiay SHT 317, SR a7 SO HTd v eI SIa-TIRgA urfea
ST ¥4 DI AT SMTVT STaae UIed SRIAT LA HT 9 €I 0 33T 3\ d a¥ &1 0 I Yed fvedt:?

[Question ID = 8958]

s

1. 5 [Option ID = 35950]
53

2. & [Option ID = 35951]
=

3. 6 [Option ID = 35949]
-
5

4, [Option ID = 35952]

Correct Answer :-

o lv

. [Option ID = 35949]

16) A tree is broken by the wind. Its upper part touches the ground at a point 10 metres from the
foot of the tree and makes an angle of 45° with the ground. The entire length of the tree is:-

TP TS T ged. ATSTET a¥id YN Afi-taR st fswroft Tt #da e @ fewmm sreren
gﬁggﬁmmﬁamamaﬂammm4vwmmmﬁmmw
?

[Question ID = 8956]

1. 20 metres [Option ID = 35943]
2. 15 metres [Option ID = 35941]

;. 10 (1 + ";) metres

4 1ﬂ{\."2+ 1) metres

[Option ID = 35944]
[Option ID = 35942]

Correct Answer :-
e 20 metres [Option ID = 35943]

17) The perimeter of a triangle is 100 cm and its sides are in the ratio 1 : 2 : 3. The area of the
triangle (in cm?) is:-

T Frpiomdt uRkfARd 00 A4t 3 T a1 AHivme 15 UIRR ( ratio) 1:2:3 3 3T, R T BHivma
&AFS (in cm?2) ALl fardt 3ra?

[Question ID = 8959]

10047

1 [Option ID = 35956]



—

2. Y00¥5 roption ID = 35955]

100v/3 _
3. [Option ID = 35953]

100415 _
4, [Option ID = 35954]

Correct Answer :-

100415 _
. [Option ID = 35954]

18) The 5th terms of the sequence defined by t; = 2,t; = 3and t, = t,—; + t,— forn = 3.

ty = 2, ty = 33N t, = t,-1 + ty-p 7 n = 3 GRTURUIRG FHaRI ydt e Ford.
[Question ID = 8962]

1. 13 [Option ID = 35965]
2. 15 [Option ID = 35967]
3. 18 [Option ID = 35968]
4. 16 [Option ID = 35966]

Correct Answer :-
e 13 [Option ID = 35965]

19) The area of a trapezium is 275 cm?2. If the parallel sides are in the ratio 2 : 3 and the
perpendicular distance between them is 5 cm, then the smaller of the parallel sides is:-

THT ATIATd AABS 275 cm? Fad! 3R, TR T STAATAT JHIGR JTod TUIRR 2 : 3 §dd 318 T &1
oA TS 3R 5 cm 3R, R G JHIAR IIjUd! AT d15] HIUIT?

[Question ID = 8948]

1. 40 cm [Option ID = 35910]
2. 44 cm [Option ID = 35911]
3. 48 cm [Option ID = 35912]
4. 36 cm [Option ID = 35909]

Correct Answer :-
e 44 cm [Option ID = 35911]

20) The dimensions of a room are 10 m X 7 m x 5 m. There are 2 doors and 3 windows in the room.
The dimensions of the doors are 1 m x 3 m. One window is of size 2 m x 1.5 m and other two

windows are of size 1 m x 1.5 m. The cost of painting the walls at Rs. 3 per m?2

TH FH (W ) SMPRAM 10 m X 7 m X 5 m 318 . WiehdT 2 S3a™ 9 3 RAsar 3med. @il grarsaid
STHRATT 1 m x 3 m 3ATE. THT fASHIAT SMPR 2 m x 1.5 m 318 9 3R 2 RASHT 1 m x 1.5 m ATHRTAT
3T, AT ¥ 3 Ul AR Wiex vyt Riciem Tremmer v fard @ agar

[Question ID = 8960]

is:-



1. Rs.578 / % 578 [Option ID = 35958]
2. Rs. 474 | % 474 [Option ID = 35957]
3. Rs.684 / ¥ 684 [Option ID = 35959]
4. Rs.894 / % 894 [Option ID = 35960]

Correct Answer :-
e Rs. 474 /% 474 [Option ID = 35957]



